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QUESTION 1

Which two features are supported by the Java Authentication and Authorization Service (JAAS) API?
A. Single sign on

B. Secure network connections

C. Configurable access control policies

D. Web services security

E. Message encryption and key generation

Correct Answer: AC

QUESTION 2

Your company uses a payroll application that was developed using Java technologies. The company has acquired
another company and plans to integrate its payroll process in existing application. You have been asked to implement
this integration. You observe that the business logic adopted to calculate the payroll is different in both companies.
Which design pattern would be most appropriate to use in this integration?

A. Strategy

B. Payload Extractor

C. Fly Weight

D. Composite

E. Service Locator

Correct Answer: A

QUESTION 3

What are two consequences of using the Composite View pattern?
A. Improves performance

B. Avoids duplicate content

C. Forces a whole-part dependency

D. Allows tables to be reused in multiple locations

E. Restricts all sub views to have a consistent view technology

Correct Answer: BD
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QUESTION 4

Blue Berry Corporation, one of the biggest fruit traders in Canada, has the biggest competitor, Red Cherry

100% Real QandAs | 100% Real Pass Corporation. Blue Berry uses a web application that is developed by using java
technologies, whereas Red Cherry\\'s web application uses non-Java technologies. Blue Berry plans to share business
sensitive, transactional data between the two systems by integrating them in a loosely coupled manner.

Which technology should be used to this?

A. IMS

B. JCA

C. XML over HTTPS

D. RMI over IIOP

E. JBI

Correct Answer: CE

QUESTION 5

An online library wants to introduce a feature where an email notification is generated whenever a book becomes
available for circulation. This notification must be sent to only those members who have expressed interest in that book.

Which design pattern would you use to implement this requirement?
A. Observer

B. Payload Extractor

C. Asynchronous Resource Integrator

D. Web Service Broker

E. Service Starter

Correct Answer: A
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